2022 SCC #=EOv45g52auR

Bz |BREESR OUT | IN [GROSS|HDCP| NET | AE I1E {5z B E A OUT | IN [GROSS|HDCP| NET | AE JIE iz BEREA OUT | IN [GROssS|HDCP| NET | AE
B B+HE & 34 32 66| -2.4 68.4] O 12661 | EH 18 41 42 83 9.6] 73.4 25141 fE— 47 44 91| 15.6| 75.4
ZEE LK B3 41 37 78] 9.6 68.4 O 12761 |FE = 41 42 83| 9.6 734 2521 | S WA 47 44 91| 15.6| 75.4
LA B® 43 39 82| 13.2 68.8) O 12841 |HKE $F— 44 45 89| 15.6] 734 253fi |[FH  EXRE 47 44 91| 15.6| 75.4
4 /NVE BE 39 41 80| 10.8 69.2] O 1294 |fFA B 43 46 89| 15.6/ 734 25441 |BEAR  EA 45 46 91| 15.6| 75.4
5(i|=F BX 37 41 78 8.4 69.6] O 130f% | ZEX 41 48 89| 15.6] 734] O 255k |fEFH EBEX 45 46 91| 15.6| 75.4
6fZ|ILT = 36 35 71 1.2 69.8) O 1314 |{&E  #85 41 35 76 2.4] 73.6 25611 |[1EE RBE 44 47 91| 15.6| 75.4
THL|/ME B 46 43 89| 19.2 69.8] O 132f% AKX & 41 35 76 2.4] 73.6 2574 | 2H —F& 50 47 97| 21.6| 75.4
8fL|#EA —% 47 41 88| 18.0 700, O 1331 | FFE  itE 45 37 82 8.4] 73.6 25841 |ffE 1B 44 47 91| 15.6| 75.4
ofiz [#A1L  =ET 44 44 88| 18.0 700, O 13441 | #28F  RH 38 38 76 2.4] 73.6 25901 | K% IEF 49 48 97| 21.6| 75.4
I AENCEE S 41 40 81| 10.8 70.2] O 13501 | "R FH 42 40 82| 8.4| 736 2604 |fliE  E&E 43 48 91| 15.6| 75.4
14| KE E 41 40 81| 10.8 70.2] O 13662 | E)I  FnE 44 44 88| 14.4] 736 2614 | £ H BE 53 50 103| 27.6] 75.4
1268 AR F— 43 44 87| 16.8 70.2] O 13747 | Fim B 49 45 94| 20.4| 73.6 2621 [5EE F = 47 50 97| 21.6| 75.4
131 g 5% 41 39 80 9.6 704 O 13861 |FH Fx 48 46 94| 20.4| 73.6 26311 [1EA 1BF 44 53 97| 21.6| 754
1467 | E@H FEE 47 51 98| 27.6 704 O 1394 ;D BH 61 51 112| 38.4] 73.6 26441 |[BAR 8&E 59 56 115| 39.6] 75.4
1561 &Il FR 41 38 79 8.4 706 O 1400z | EX 44 37 81 72| 738 O 26501 | BE 52 57 109] 33.6| 75.4
164z | A% B 39 40 79| 84 70.6 1414 |BiE HH 48 39 87| 13.2| 738 26601 | =K ZE 43 35 78| 24| 75.6
174 ;AR BhBA 50 47 97| 26.4 70.6 14241 |[fE R EB 46 41 87| 13.2] 738 26761 |FHF  BE 42 36 78| 24| 75.6
1801 | HIR HEEE 37 35 72| 1.2 70.8 1431 |5 AIE 40 41 81| 7.2] 738 268fi (MK EE 40 38 78| 24| 75.6
1961 | IUF = 41 37 78 7.2 70.8 14441 | &1 & 39 42 81 7.2| 738 2691 |fEBE  BAX 51 39 90| 14.4] 756
206z ||l EF— 40 37 77 6.0 710, O 14501 |F%F EX 44 43 87| 13.2| 73.8 27061 [ffE R #H 43 41 84| 84| 756
21 |HE &M 39 38 77| 6.0 71.0 1460z FEK & 44 43 87| 13.2| 738 27141 [FE M= 53 43 96| 20.4| 75.6
22§ | KR FiE 44 39 83| 12.0 71.0 147461 | AE BA 38 43 81| 7.2] 738 27241 [HEE B A 46 44 90| 14.4| 75.6
23 | Bl BE 37 40 77 6.0 71.0 14841 (kg EZ 44 43 87| 13.2| 73.8 273G IR — K 40 44 84| 84| 756
2441 | FH 48 41 89| 18.0 71.0 14941 ;B BZ 43 44 87| 13.2| 73.8 27441 |BEA BBl 46 44 90| 14.4] 756
25 (Bl HE 42 41 83| 12.0 71.0, O 1504 ;&)1 B{= 43 44 87| 13.2] 738/ O 2756z |50 B 45 45 90| 14.4] 756] O
2641 AHF  1E 46 43 89| 18.0 71.0 1514 |flfE ZF& 46 47 93] 19.2| 73.8 27641 AR EFH 39 45 84| 84| 756
2741 [ B’E 44 32 76| 4.8 71.2 15241 | £k FBk 39 48 87| 13.2] 738 277461 @ JBR 45 45 90| 14.4] 756
284 | ¥ FEY 35 35 70 -1.2 71.2 1536 |/ HiE 57 54 111] 37.2] 73.8 278fi | KfE RA 48 48 96| 20.4| 75.6
294 |BTEF  FIE 39 37 76| 4.8 71.2 15441 |;AH 74 40 40 80| 6.0 74.0 2791 Bk EEH 47 49 96| 20.4| 75.6
30fz |FEl Al 38 38 76| 4.8 71.2] O 1554 | lUA B3B8 38 42 80 6.0 74.0 2801 [1EBE FES 55 53 108| 32.4| 756
31| ILTF = 42 46 88| 16.8 71.2 1564 | &R FH 43 43 86| 12.0] 74.0 28141 % EX 48 35 83| 7.2| 758
326L| Y8 =— 44 37 81| 9.6 71.4 15741 | EH EF 42 44 86| 12.0| 74.0 282 |[FEFT  HME 43 40 83| 7.2| 758
33| == EHEER 37 38 75| 3.6 71.4 1584z |£F hz 45 47 92| 18.0] 74.0 2831 | Y& =— 43 40 83| 7.2| 758
344I BEAR S 41 40 81 9.6 71.4 1501 A8 T 58 52 110/ 36.0] 74.0 28441 |3k =X 49 40 89| 13.2] 758
350 (#E ER 34 41 75 3.6 714 O 160fz | /R FHA 56 54 110/ 36.0] 740 O 285 | RKR FHH 42 41 83 7.2| 75.8
366 ME  EE 37 44 81| 9.6 71.4 1614z | LA  FHR 52 58 110| 36.0] 74.0 2861 [FE M= 48 41 89| 13.2| 75.8
L ER F 43 37 80 8.4 71.6 1621z |#E  FH 52 39 91| 16.8] 74.2 2871 Bl B2 48 41 89| 13.2] 758
38hi | FHE EZ 43 37 80| 8.4 71.6 1634 |fER  FH4t 39 40 79| 48] 742 288fi | *R FHH 42 41 83| 7.2] 758
96| £F ER 42 38 80| 8.4 71.6 1644z |#EH EA 44 41 85| 10.8] 74.2 289fu (R Eth 46 43 89| 13.2] 758
40 |#REE IEH 44 42 86| 14.4 71.6] O 16501 |HFA & 44 41 85| 10.8] 74.2 2001k | §F EE 50 45 95| 19.2] 75.8
4141 £ BEX 49 43 92| 20.4 71.6 16641 R —X 43 42 85| 10.8] 74.2 29161 | IA K Fi 47 48 95| 19.2] 75.8
424i|'=EN BR 42 44 86| 14.4 71.6 1674z |£1L =+t 43 42 85| 10.8] 74.2 2024 |HHO EE 51 50 101] 25.2| 75.8
43I IUKR TEF 47 51 98| 26.4 71.6 1684 | Ek BF 42 43 85| 10.8] 74.2 293 | REH & 50 51 101| 25.2] 75.8
4441 | & IEBH 51 53 104] 32.4 71.6 1694 | =% XB 36 43 79] 48] 742 20441 MK BEZ 50 51 101] 25.2| 75.8
4561 R BHE 39 34 73] 1.2 71.8] O 1704z | F7 A FA5A 53 44 97| 22.8] 742] O 2954 AL =T 43 52 95] 19.2] 758
46061 Kl XA 36 37 73 1.2 71.8 1711 | £ =F & 47 44 91| 16.8] 74.2 29641 |BEFT EFEF 53 54 107| 31.2] 75.8
A7 |FA B 47 38 85| 13.2 71.8 1724 |[#3ll 7] 47 44 91| 16.8] 74.2 2974 |iE E AR 43 39 82| 6.0 76.0
A8GI | ILAR B3 44 41 85| 13.2 71.8 1736 |9t IEfT 45 46 91| 16.8] 74.2 298 |F fE— 42 40 82| 6.0 76.0
494 | &H #XE 43 42 85| 13.2 71.8 17461 | [RE  F* 45 46 91| 16.8] 74.2 299 |55H B= 48 40 88| 12.0] 76.0
50fiz| KB &= 37 42 79 7.2 71.8] O 17561 | BRIl &t 45 46 91| 16.8] 74.2 3006z FXR & 42 40 82 6.0/ 76.0, O
5141 A% RBZ 51 46 97| 25.2 71.8 1766 | BH HEX 49 54 103| 28.8] 74.2 3014 |FafE  FA 52 42 94| 18.0] 76.0
524 | FH M BAfT 46 38 84| 12.0 72.0 1776 AKX EE 34 38 72| 24| 744 3026 HEH EH 49 45 94| 18.0] 76.0
536 |BFE EiE 45 39 84| 12.0 72.0 1781 £k FEH 39 39 78 3.6| 744 303 | A BE 49 45 94| 18.0] 76.0
5441 | EiE BRI 42 42 84| 12.0 72.0 1791 | B =¥ 44 40 84 9.6| 74.4 30441 R EETF 49 45 94| 18.0] 76.0
5501 E EiE 42 42 84| 12.0 720, O 180fi | Rk FH 49 41 90| 15.6] 74.4] O 3054 |db & 1EBh 48 46 94| 18.0] 76.0
5601 XE BE 42 48 90| 18.0 72.0 1811 |FHFF XK 42 42 84 9.6| 74.4 3066 | KFE 5k 48 46 94| 18.0] 76.0
5761 | =R &X 35 36 71 1.2 72.2 182 | K R 42 42 84 9.6| 74.4 3074L Bk = 49 51 100] 24.0] 76.0
581 |fELl  ZAl 40 37 771 4.8 72.2 183f1 | HA BBk 41 43 84 9.6| 74.4 3084 | X 43 38 81 48] 76.2
500 | EE HM 39 38 77 48 72.2 1844 | fE)II  StA 46 44 90| 15.6] 74.4 309 | KN FRiE 41 40 81] 4.8] 762
60f | B EE 38 39 771 4.8 722 O 18511 | Ef & 46 44 90| 15.6] 74.4 310%% | K BA 46 41 87| 10.8] 76.2
61 ;A% Rfg 44 39 83| 10.8 72.2 1864 |F%F HEX 39 45 84| 9.6] 744 lify | FBE HEF 39 42 81] 4.8] 762
62fi |Fx R FNEA 38 39 77 48 72.2 1874z |+ EA 50 46 96| 21.6] 744 3124z | KA @X 50 43 93| 16.8] 76.2
631 | AR 5B 49 40 89| 16.8 72.2 188fi |lUA BAF 43 47 90| 15.6] 74.4 313G AR #HF 43 44 87| 10.8] 76.2
6441 | FH BE 40 43 83| 10.8 72.2 18946% 7Nl BU= 48 48 96| 21.6| 74.4 31441 [ILAR  BRF 43 44 87| 10.8] 76.2
656 ik =HA 41 35 76 3.6 724 O 190fx |[fR R & 41 49 90| 15.6] 74.4] O 31541 |faiE = 48 45 93| 16.8] 76.2
660 |k = 44 38 82 9.6 72.4 19141 | KH $— 46 43 89| 14.4| 746 3166 | /A #E 42 45 87| 10.8] 76.2
6746|1518 Bt 43 39 82 9.6 72.4 1924 |iEiE BEX 51 44 95| 20.4| 74.6 31741 | KA EE 46 47 93| 16.8] 76.2
684 ik HEA 43 39 82 9.6 72.4 193f1 | HR &R 45 44 89| 14.4| 746 3186 |NEE Eth 51 48 99| 22.8] 76.2
691 | FFE HBE 37 39 76 3.6 72.4 194f1 | FA BBk 44 45 89| 14.4| 746 3196 |[E R EEK 50 49 99| 22.8] 76.2
706L PEF ER 42 40 82 9.6 724 O 1950 |7 IEE 43 46 89| 14.4| 746 320 |H  BAm 55 50 105 28.8] 76.2
TR FHE B 46 42 88| 15.6 72.4 1964L BB WH 50 57 107| 32.4| 74.6 32141 |FBH EF 47 52 99| 22.8] 76.2
7261 | KA RiE 39 43 82 9.6 72.4 1974L |[BEH  B&H— 50 38 88| 13.2| 74.8 322§ (IR RB— 41 52 93| 16.8] 76.2
7301 | EIR 82 44 44 88| 15.6 72.4 198fa | IEBK 44 38 82 7.2] 74.8 323G | HEKR  ABR 51 54 105 28.8] 76.2
74| /INE BRIE 44 44 88| 15.6 72.4 1991 |[FEA FHA 41 41 82 7.2| 74.8 32461 | BEAR  HE 45 54 99| 22.8] 76.2
756/l F— 38 44 82 9.6 724 O 200f |f&£f%  BEIA 47 41 88| 13.2] 748 O 3254 | EAR 54 57 111 34.8] 76.2] O
7661 | RKR  FHH 43 45 88| 15.6 72.4 2014z |/NE R 46 42 88| 13.2] 74.8 3264 (AR EKR 48 44 92| 15.6| 764
T7RL | EHG ZA 43 51 94| 21.6 72.4 PEE 46 42 88| 13.2] 74.8 7L [EFE BA 46 46 92| 15.6| 76.4
78I kE & 38 37 75 2.4 72.6 203z | —F 46 42 88| 13.2| 74.8 3284 A8 Hth 46 46 92| 156| 76.4
790 ¥ ERXR 36 39 75 2.4 72.6 2044 | PR &HD 44 44 88| 13.2] 74.8 3291 |¥7H  F08h 51 47 98| 21.6] 76.4
80fL| RN 41— 47 40 87| 14.4 726 O 2054 /NIl FEZ 44 44 88| 13.2| 74.8 3301 AR #Hi— 45 47 92| 156| 76.4
81fI B EAER 52 41 93| 20.4 72.6 2064 |[REA FFHE 43 45 88| 13.2] 74.8 3B | KEEZ E 50 48 98| 21.6] 76.4
82fI | #k IEE 44 43 87| 14.4 72.6 2076 |/FAR — 1A 42 46 88| 13.2] 74.8 3320 | HE B 50 48 98| 21.6] 76.4
83| FA 43 44 87| 14.4 72.6 2084 |[#iFt BX 47 47 94| 19.2] 74.8 333 | E EF 61 49 110| 33.6] 76.4
84 iBd HRE 52 47 99| 26.4 72.6 2094 | E)Il B 46 48 94| 19.2] 74.8 3G EN B 61 49 110| 33.6] 76.4
85fi | 1M 46 47 93| 20.4 726 O 21011 |##A = 50 50 100| 25.2| 74.8 3354L 2l = 45 40 85 8.4] 76.6
86fI| IR —k 44 49 93| 20.4 72.6 2114 |/ T B2 56 50 106] 31.2| 74.8 336 | B2 A 43 42 85 8.4] 76.6
87HL|/NEIR 44 36 80 7.2 72.8 2124 | EENII EA 53 53 106| 31.2| 74.8 B ERN B 49 42 91| 14.4] 76.6
88fI | FEF ER 42 38 80 7.2 72.8 213fu | IR % 45 55 100| 25.2| 74.8 3384 |FafE B — 48 43 91| 14.4] 76.6
89fI |1 B 42 38 80 7.2 72.8 2144 | KiE &|/X 38 37 75| 0.0 75.0 339k [T IEAT 47 44 91| 14.4] 76.6
90fiz [ #2% AR 41 39 80 7.2 72.8] O 21501 | RIS =RE 48 39 87| 12.0/ 75.0 340fL | Ef  #HA 46 45 91| 14.4] 76.6
914 |l =7 41 39 80 7.2 72.8 2164z [#2% AR 41 40 81 6.0 75.0 3414 |fEIR  {dsE 49 48 97| 20.4] 76.6
92f1 | RIR  #F 40 40 80 7.2 72.8 21741 | K8 #%hE 40 41 81 6.0 75.0 3421 |FTIE BH 42 49 91| 14.4] 76.6
93| AN IEH 43 43 86| 13.2 72.8 218%I AR ER 45 42 87| 12.0] 75.0 343GI|[FH X 43 54 97| 20.4] 76.6
AfL | FiE BR 52 46 98| 25.2 72.8 2194 B R 45 42 87| 12.0/ 75.0 34441 [ ILAR  BRF 43 41 84 7.2] 76.8
95z | EH HF 46 46 92| 19.2 728 O 2201 |32 f&=F 43 44 87| 12.0/ 75.0 34541 R  IEHE 42 42 84 7.2] 76.8
964z FE A 44 41 85| 12.0 73.0 2214z | 2SI 43 44 87| 12.0/ 75.0 34641 |k RKE 42 42 84 7.2] 76.8
o7fL | FEL  ZEAI 38 41 79 6.0 73.0 2220 | B/ Bt 48 45 93| 18.0] 75.0 374z K1 FA 42 48 90| 13.2] 76.8
o8l | KR RB=E 43 42 85| 12.0 73.0 223 | f— 47 46 93| 18.0] 75.0 348%i &Il IR 48 48 96| 19.2] 76.8
99fiL [FER  FEA 42 43 85| 12.0 73.0 2244 | BEAR  fifigE 51 48 99| 24.0] 75.0 349 [StH  HEEAS 48 48 96| 19.2] 76.8
100fiz | FEA  F5BH 40 45 85| 12.0 73.00 O 22501 | KEE  H— 55 50 105 30.0] 750/ O 3501 |AIEF  HEA 53 49 102| 25.2| 76.8] O
1014 |Hst  IEAT 40 45 85| 12.0 73.0 2260 | B BE 40 34 74| -1.2| 75.2 31| HH B 55 53 108| 31.2] 76.8
1026 |[R Eth 51 46 97| 24.0 73.0 227 [ K 1B 44 36 80| 4.8| 75.2 3524 [/NE  RRiE 47 42 89| 12.0] 77.0
103 |imA BBk 45 46 91| 18.0 73.0 228 (1R 44 36 80| 4.8| 75.2 35301 | KIE &% 47 42 89| 12.0] 77.0
1041 | EX =D 47 50 97| 24.0 73.0 2290 |0 41 39 80| 4.8| 75.2 35441 | HT  FiE 40 43 83 6.0/ 77.0
10501 BEE HH 58 63 121] 48.0 73.0 2306Z|IUA £ 39 41 80| 4.8| 75.2 35561 |/ EX 39 44 83 6.0/ 77.0
1064 | &% F5 37 35 72| -1.2 73.2 23141 |RTE E— 44 42 86| 10.8] 75.2 3564 |FaFt Bl 42 47 89| 12.0] 77.0
1076 | KB ZE 41 37 78] 4.8 73.2 2324 |BATER  FD4= 43 43 86| 10.8] 75.2 3574 [/MIl - %EER 48 47 95| 18.0] 77.0
1084 |FIER  FO= 44 40 84| 10.8 73.2 2334 [/NE = 49 43 92| 16.8] 75.2 358G |MF  MEKF 47 48 95| 18.0] 77.0
109f% #EH —X 44 40 84| 10.8 73.2 2344 |EE = 43 43 86| 10.8] 75.2 359I IR —% 47 48 95| 18.0] 77.0
110§ | K#E 43 41 84| 10.8 73.2] O 2354 |FElR  FHHt 42 44 86| 10.8] 75.2 3604z | EKH #H— 53 48 101| 24.0] 77.0
11147 | =/ @# 43 41 84| 10.8 73.2 236fi | FB 41 45 86| 10.8] 75.2 36146 ILN IEE 47 48 95| 18.0] 77.0
1124 |/NER  1BF 48 42 90| 16.8 73.2 2374z | EfE =FE 47 45 92| 16.8| 75.2 3621 | IKE BHR 47 48 95| 18.0] 77.0
1131 |imA BBk 47 43 90| 16.8 73.2 238 |%R 1EA 41 45 86| 10.8] 75.2 363G |2l B 52 49 101| 24.0] 77.0
11441 Bk B— 47 43 90| 16.8 73.2 239z [iBK = 51 47 98| 22.8] 75.2 3644 | =8F Bk 56 51 107| 30.0] 77.0
11541 |FEF RX 47 43 90| 16.8 73.2 24061| EA  FA 50 48 98| 22.8] 75.2 3656 | AT H&ih 66 53 119] 42.0] 77.0
11641 | AR K& 41 43 84| 10.8 73.2 24141 | TR X 50 48 98| 22.8| 75.2 3664L | FHE BA 52 55 107| 30.0] 77.0
11741 | EM  #7a 41 43 84| 10.8 73.2 242 |FEA B 49 49 98| 22.8| 75.2 3676 |fRR EZ 45 37 82 48] 77.2
118f1 | ®RK  FHH 41 43 84| 10.8 73.2 2430 [ ARk 49 55 104] 28.8] 75.2 368 [IUA E3B 42 40 82 48] 77.2
1194z | &Il IEE 43 47 90| 16.8 73.2 24461 ILTF B 41 38 79 3.6] 75.4 3691 |FTfh IEX 45 43 88| 10.8] 77.2
120fz =% EF 43 47 90| 16.8 73.2] O 2454z |FElL Z A 41 38 79 3.6] 75.4 3706 IR —% 51 43 94| 16.8] 77.2
12165 (1A &3 39 38 77 3.6 73.4 24641 IR IEHE 43 42 85 9.6] 75.4 371GL /NG FREE 50 44 94| 16.8] 77.2
12205 | A% B 43 40 83 9.6 73.4 2474z |F0A B E 43 42 85 9.6] 75.4 2fa [ /H EAT 44 44 88| 10.8] 77.2
1236 | FE — 42 41 83 9.6 73.4 24841 & 23h 43 42 85 9.6] 75.4 373GL A FHHE 44 44 88| 10.8] 77.2
12441 | FH K7 41 42 83 9.6 73.4 2494k |FkA  —1{= 42 43 85 9.6] 75.4 374 [ ILAR B3 38 44 82 48] 77.2
12501 | AR K& 41 42 83 9.6 73.4 2504 | fTER  F4= 47 44 91| 15.6| 75.4] O 3754L A 1F 49 45 94| 16.8] 77.2] O




2022 SCC #=EOv45g52auR

Bz |BREES OUT | IN [GROSS|HDCP| NET | AE IE iz |BREESR OUT | IN [GROSS|HDCP| NET | AE I | BREER OUT | IN [GROss|HDCP| NET B
376461 | HEH  EiE 46 48 94| 16.8 77.2 5016 | ME  &{E 46 49 95| 14.4] 80.6
77HL|AIEA — % 49 51 100| 22.8 77.2 502fi |#iliE BA 45 50 95| 14.4| 80.6
378 | Rt ER 53 53 106| 28.8 77.2 503fi |Fifh EX 51 50 101 20.4] 80.6
ML |ER F 39 42 81| 3.6 77.4 50441 (&2l B 50 51 101] 20.4| 80.6
380 |HBE EX 50 43 93| 15.6 77.4 5050 |8 ERE 55 52 107| 26.4] 80.6
381LL A% A 50 43 93| 15.6 77.4 5064 | FH BE 49 52 101] 20.4| 80.6
3826 | HEAR  Bih 44 43 87 9.6 77.4 5074z |HPR  FHH 53 54 107| 26.4] 80.6
383GL|FE FX 49 44 93| 15.6 77.4 508 |fRFE B 60 59 119 38.4] 80.6
384z |ER fBE 43 44 87| 9.6 77.4 509 |Hh% TEF 50 56 106] 25.2| 80.8
3854 | B HEZ 53 46 99| 21.6 77.4 510fL|ATA  &E 56 49 105| 24.0] 81.0
3861 TR KFE 47 46 93| 15.6 77.4 511461 A% RKTF 58 53 111] 30.0/ 81.0
3874L | EE  #HA 51 48 99| 21.6 77.4 512fu |Fifh EX 46 40 86| 4.8] 81.2
388z A EEA 48 51 99| 216 77.4 513fu |piIH  #£— 49 54 103| 21.6| 81.4
389LL | KZEH R 54 51 105| 27.6 77.4 51461 /NI FEZ 48 48 96| 14.4| 81.6
390fz |2 53 52 105| 27.6 77.4 5154z | Nk EE 52 50 102] 20.4| 81.6
3914 |FHFA = 51 54 105| 27.6 77.4 5164z |ILA BAF 45 51 96| 14.4| 81.6
AT 61 62 123] 45.6 77.4 51761 |[#f £ fB— 48 54 102] 20.4| 81.6
393z | FH FkE 45 41 86| 8.4 77.6 51861 ZH #X 48 52 100| 18.0] 82.0
39441 | KA A+ 48 44 92| 14.4 77.6 519fu k& EF] 59 53 112| 30.0/ 82.0
395fu | KIE & 44 48 92| 14.4 77.6 520 | Rk BE 64 54 118] 36.0] 82.0
3064 &R BHE 62 54 116] 38.4 77.6 5214 | KiE  §EA 56 49 105| 22.8] 82.2
3974L | KEE H— 49 55 104] 26.4 77.6 5221 |#EHR RBE 53 52 105| 22.8] 82.2
3984 | Frfh EE 55 55 110] 32.4 77.6 5230 |RE X 57 54 111] 28.8] 82.2
3004 |#kBkH 2— 45 40 85| 7.2 77.8 5244 |FRiE  BEK 43 55 98| 15.6| 82.4
400f | FEF  #BE 41 44 85| 7.2 778 O 5250 | BH AkX 54 55 109] 26.4| 826 O
401 ;B BA 47 44 91| 13.2 77.8 5264 | FF iR 60 61 121 38.4] 82.6
4020 | ¥ = 50 47 97| 19.2 77.8 5274 ;&)1 FHA 63 57 120] 37.2] 82.8
403 | BB HE— 49 48 97| 19.2 77.8 52861 | KA B 63 68 131 48.0] 83.0
404 | E5&  1BH 54 49 103| 25.2 77.8 5201 | %5 EAER 59 59 118] 34.8] 83.2
4050 |BR BEE 47 50 97| 19.2 77.8 5301z | B HBHR 71 71 142| 58.8| 83.2
406z |f8H &HX 54 55 109| 31.2 77.8 5314 |;&)Il FBA 67 68 135| 51.6| 83.4
4074610 BE 53 56 109] 31.2 77.8 532 |E@ KR 52 52 104] 20.4] 83.6
4081 | AE XK 43 41 84| 6.0 78.0 533 e 5B 53 44 97| 13.2| 838
4090 | F%F B 48 42 90| 12.0 78.0 5344 | F L BfE 50 48 98| 13.2] 8438
41001 |TEIR #BH 48 42 90| 12.0 78.0 5354 |0 BF 48 50 98| 13.2| 84.38
41141 [F)Il RE 47 43 90| 12.0 78.0 5361 |kl EH 61 60 121] 36.0] 85.0
4124 |BEAR <3 46 44 90| 12.0 78.0 BT |=F BX 50 44 94| 8.4 85.6
413 |ER #Bz 44 46 90| 12.0 78.0 538 |2 E Hth 53 59 112]| 26.4] 85.6
41461 KAE B 48 48 96| 18.0 78.0 5394 |pIH  #— 51 52 103] 16.8] 86.2
4150 |Fidh IS 53 55 108] 30.0 78.0 BBE [#A\H HXK 69 70 139] 50.4] 88.6] O
41641 [#HAR  F 45 44 89| 10.8 78.2 BME &R FiE 65 51 116| 25.2] 908, O
4171 |5 BB 45 44 89| 10.8 78.2

418fu|a0 @ 57 44 101] 22.8 78.2

41941 | KB EF 48 47 95| 16.8 78.2

420f |[REA ZEL 45 50 95| 16.8 78.2

42141 [E)Il BE 51 50 101] 22.8 78.2

4221 [ #HE 49 52 101] 22.8 78.2

42301 | B FIE 49 52 101] 22.8 78.2

2445 BN BE 44 44 88| 9.6 78.4

42501 |5 BE 49 45 94| 15.6 78.4] O

42601 fE— 49 45 94| 15.6 78.4

272 | TN FHIE 43 45 88| 9.6 78.4

42801 | FiE & 48 46 94| 156 78.4

429f% (M E IR 47 47 94| 156 78.4

4301 | 1§ 51 49 100] 21.6 78.4

4311 | EE #E 51 49 100] 21.6 78.4

4321 |pTH 1E& 52 54 106] 27.6 78.4

433 | B LEE 61 69 130| 51.6 78.4

43441 | FF  {ERER 49 44 93| 14.4 78.6

43541 | FTR  ERA 51 48 99| 20.4 78.6

436fL | Kl = 50 49 99| 20.4 78.6

43712 B RE 49 50 99| 20.4 78.6

43841 BB ®K 53 52 105] 26.4 78.6

4390 | /RS FEAT 58 59 117| 38.4 78.6

4400 | KH  $— 50 42 92| 13.2 78.8

441061 [ E =R 56 42 98] 19.2 78.8

44211 |2 H EBF 43 43 86 7.2 78.8

4430 |BEAR  EBA 52 46 98| 19.2 78.8

4440 |tk &% 46 46 92| 13.2 78.8

44541 | )l BE 54 50 104| 25.2 78.8

4460 | FiE B2 54 50 104| 25.2 78.8

4470 | HE BAE 45 40 85| 6.0 79.0

44801 AR ER 48 43 91| 12.0 79.0

44901 | 55H BZ 48 43 91| 12.0 79.0

4500z A2 #BC 48 43 91| 12.0 79.00 O

45142 |R Ih 53 44 97| 18.0 79.0

4524 [HEFT  BF 45 46 91| 12.0 79.0

4536 B BR 49 48 97| 18.0 79.0

45441 | —Hl  ERF 49 48 97| 18.0 79.0

455 |f8H BE 48 49 97| 18.0 79.0

4560 AP =F 41 50 91| 12.0 79.0

45741 | R¥t  {£BH 53 50 103] 24.0 79.0

4580 |fEIR  Jeh 52 51 103| 24.0 79.0

4590 1687 B 54 55 109] 30.0 79.0

46001 [JBH W= 47 56 103| 24.0 79.0

46101 | #EH  RT 51 58 109] 30.0 79.0

4624 [F 1Eth 47 43 90| 10.8 79.2

46361 [EF ATF 43 47 90| 10.8 79.2

46441 | )l HBE 48 48 96| 16.8 79.2

4650 A HBE 57 51 108| 28.8 79.2

46611 |{EBE SEA 45 44 89 9.6 79.4

4671 | FFIl FE 55 52 107| 27.6 79.4

4681 | &TE IERE 54 53 107| 27.6 79.4

4690 | B #BE 57 56 113| 33.6 79.4

47001 | K BE= 58 48 106] 26.4 79.6

A7105 AR BN 51 49 100| 20.4 79.6

4721 |BEEH B 53 53 106] 26.4 79.6

47367 [Hul BB 59 53 112| 324 79.6

474061 BT EE 52 54 106| 26.4 79.6

47561 | TF FF 46 47 93| 13.2 798, O

47601 | HE  Hih 51 48 99| 19.2 79.8

AT7TH | AR Th 50 49 99| 19.2 79.8

47840 |iR=BE 58 53 111 31.2 79.8

479z IR FR 46 46 92| 12.0 80.0

4800z | EfE =F & 46 46 92| 12.0 80.0

4811 ;FFE BA 51 47 98| 18.0 80.0

48201 | FE Eth 50 48 98| 18.0 80.0

4830z | ILK  FR 55 49 104| 24.0 80.0

48441 R I 49 49 98| 18.0 80.0

48541 | K EES 47 51 98| 18.0 80.0

4861 | /R FHA 59 51 110/ 30.0 80.0

48741 | BB 18F 50 54 104| 24.0 80.0

4881 |FlE  EHEA 49 48 97| 16.8 80.2

489 PR A 47 50 97| 16.8 80.2

4900z | RiR =B 58 51 109| 28.8 80.2

4914i| B & 46 51 97| 16.8 80.2

4924i| M2 Fth 52 51 103| 22.8 80.2

49301 R K 45 52 97| 16.8 80.2

49441 | ARHx E/\B | 57 52 109| 28.8 80.2

49501 | hFE  XfE 51 52 103] 22.8 80.2

49641 AL BAFD 62 53 115] 34.8 80.2

4974 [[RF &K 52 57 109| 28.8 80.2

4984 A #hth 49 47 96| 15.6 80.4

499 | KEE tHh— 55 59 114| 33.6 80.4

500fL| A% fE= 57 63 120| 39.6 80.4] O




